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QUESTION 1

You want to configure an LDAP authentication provider in your domain. Which three pieces of information must you
obtain from your LDAP administrator? (Choose three.)

A. name attribute for user objects
B. connection pool maximum size
C. base DN for group objects

D. realm name

E. host name and port

Correct Answer: CDE

QUESTION 2

Which two statements are characteristics of the Reconfiguration Wizard? (Choose two.)
A. You can upgrade any domain that was created using WLS 9.2 and above

B. The Reconfiguration Wizard allows you to change the domain mode

C. The Reconfiguration Wizard allows you to select a different Java JDK

D. The Reconfiguration Wizard does not allow the reconfiguration of JDBC data sources
E. You can upgrade only a domain which is running WLS 10.3.x or later

Correct Answer: DE

QUESTION 3

By monitoring CPU and RAM utilization, it appears that one member of your cluster is receiving a much
lower percentage of the request load than the other servers.

Which Administration Console metric should you examine to help determine if a network problem is the
cause?

A. Primary session count

B. Drop out frequency

C. Migration basis

D. Health state
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E. Current heap size
Correct Answer: E

Reference: https://docs.oracle.com/middleware/12212/wcp/admin/GUID-855999B5-F073-436B-
B7A4B7AD046A0D0OA.htm#WCADM348

QUESTION 4

Consider an application that comprises both web and EJB components.

What are two benefits of implementing a multitier cluster architecture over a single-tier(basic) cluster
architecture? (Chose two.)

A. Dynamic clusters are only supported for the multitier architecture

B. Remote EJB access is blocked

C. Each cluster can be scaled independently

D. Future web clusters can share the same EJB tier

E. All servers can be managed (started/stopped) together

Correct Answer: DE

QUESTION 5

Before you view JVM performance information in the administration console, you want to request that the JVM do a
garbage collection.

How can you do this in the admin console?

A. You cannot do this from the admin console. You must use WLST or a JVM command- line tool.
B. In the Monitoring > Performance tab, click Dump thread Stacks.

C. In the Monitoring > Threads tab, click Dump thread Stacks,

D. In the Monitoring - Performance tab, click Garbage Collect.

E. In the Monitoring > Performance tab, click GC.

Correct Answer: D
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